XENTRY Portal - Print part query https://retail.aftersales.i.daimler.com/wps/myportal/retacchiddenpages/iparts-printpage?printID...

- Parts list -

Mode BM mode BM overview S 500
VIN/mod. des. WDD2221821A244887 Catalog P24
Group 86 WINDSHIELD
VIN WDDUG8CB1GA244887 WASHER EMERGENCY
Assortment class PC EQUIPMT.
Market Sub-group 015 WINDSHIELD
WASHER
o
. fﬁ 2 o ® -
— @
255 -
= 270 »
)
z B
L) 5 260
(D / = r Y = b
< / % ‘ﬁ.}' ) -~
- . 280 s »
o / T=y 50 Lo
e S 265
= 920 o g;;,:““ ‘
" ol o
2 L% - o7
™ N i 60
o . /_f::‘ 0 G
8 .-: B [ : e
Yo fu 40 y
; 900 307" L
@ c dl g %,/ 910
8 $40 ol
= 200%
Ry
—
>
o
@)
o
Image ID: drawing_B86015000097
Item Part number Designation/additional information Qty
10 A 222 869 05 20 REFRIGERANT RESERVOIR 1

WINDSHIELD WASHER
E Code: 610+874;

20  A2318660121 CENTRIFUGAL PUMP 1
AT LIQUID TANK
B Code: 610+874;

1of2 8/13/2019, 12:47 PM



XENTRY Portal - Print part query

2 of 2

Item
30

40

50

60

70

200

220

230

250

270

N
o]
o

©
o
o

©
o
o

©
=
o

Copyright 2019-08-13 Daimler AG

Part number
A 231866 00 21

A 001998 73 01

A 171869 0108

A 22283000 61
A 222 869 0272

A 203 869 0198
A 002 990 76 00
A 004 994 17 45

A 222 860 73 00

)

A 000 991 93 40
D

A 222 824 02 00

4
A 016 545 46 26

A 016 545 46 26

A 052 545 38 26

A 028 545 27 26

Designation/additional information
CENTRIFUGAL PUMP
WINDSHIELD WASHER

Eff Code: 610+874;

FORMED GROMMET
WINDSHIELD WASHER PUMP IN CONTAINER
E Code: 610+874;

CAP

WINDSHIELD WASHER
HEAT EXCHANGER

E Code: 874;
CAP

Eff Code: 610+874;

SEALING

WASHER FLUID RESERVOIR TO BODYSHELL
COMBI-HEXAGON HEAD BOLT
WINDSHIELD WASHER RESERVOIR MOUNTING; M6X24

SPRING NUT

WINDSHIELD WASHER RESERVOIR MOUNTING; M6

HOSE LINE

TO RESERVOIR
]

g Code: 874;

EXPANSION RIVET

HOSE LINE
EEf Code: 874;

RETAINING PLATE
HOSE LINE ATTACHMENT

@ Code: 874;

RECEPTACLE HOUSING
WASHER PUMP M5/1; 2-PIN MCP2.8
RECEPTACLE HOUSING
WASHER PUMP M5/6; 2-PIN MCP2.8

Eff Code: 610;
PLUG HOUSING

WINDOW WASHER FLUID LEVEL INDICATOR SWITCH S42; 2-PIN

SLK2.8

COUPLING HOUSING
CONNECTOR WASHER NOZZLE HEATER HOSE R2/11; 4-PIN MLK1.2

ﬁ Code: 874;

https://retail.aftersales.i.daimler.com/wps/myportal/retacchiddenpages/iparts-printpage?printID...

Qty

8/13/2019, 12:47 PM



